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Directions : The following five (05) items consist of |4.
twe stalements, statement I and statement 1. You
are to examine these two staiements carefully and
select the answers (o these ilems using the code given
below :

Code :

(a) Both the statements are individually 5.

truc and statement 1T is the correct
explanation of statement |

(b) Both the statements are individually
true but statement 11 is nof the correct
explanation of statement. I

(¢y Stalement I is true but slatement II is
false

(d) Statement I is false bul slatement II is
true

1, Statement I ;  The US Army buill the historic
Stilwell Road in 1943 running
from T.edo in Assam to the

China-Burmza Road.

Siatement II : The objective was to form a
link with the Bengal-Assam
Railway and carry supporl for
the US and the UK warfare [g,
againsl Japan,

2, Statement I ;' The recent national election
results in India are indicalive
of a iransition towards a new
region  based multi-party
coalition system.

Statement 1T : The intensification of
competitive politics has
changed the party system in
India from being a rivalry
between national parties into
one between alliances and
coalition of national and state |~
parties. .

3. Statement I : In forensic invesiigations,
DNA fingerprinting lests are
carried out.

Statement II - In DNA [ingerprinting
technique, DNA is isolated and
subjected to Northern Blotting.

P-PCF-L-TNV {2 - A)

Statement I :  The Earth is shaped more like

a tangerine.

Statement 11 : 'The Earth spins faster at the

Paoles.

Statement I: India used the Minimum

Credible Deterrent argument
to develop ils nuclear weapon
syslem argning that it had
such a threat from China.
Pakistan in turn used the
same argument against India
when il developed its own
nuclear weapons.

Statement 11 ; The Minimum = Credible

Delerrent refers 1o a notion
according to which nuclear
weapons become necessary for
& counlry when it has a clear

nuclear threat.

Which one among the following statements
relating te a cyclone is nof correct ?

(a)

(b}

{c)

(d)

It is a wind circulation system with a low
pressure at the centre

It brings about sudden change in
weather condition in an area

Wind movement towards the low
pressure centre of a cyclone is clockwise
in the northern hemisphere

It is known as hurricane in West Indies

Which one among the follo“;ing forces is

most powerful in determining movemenl of
wind including its velocity ?

(a)
(b)
{c)
(d)

Gravitational force
Centrifugal lorce
Friclional force

Pressure gradient force
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Rder - FfiRaa g (05) Fo9) § oF o, @ 1

IR w7 I & | el 57 @A @) @ e
@ gdlen @} 37 gEAIE & 397 ] v g o

7N B g R

(b)

()

(d)

FHETIr:

Fe1 Il

&I
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g i

FTI

2FT BuH wed Ve € AR o9 1L $F 1
@ | A=A &

2Fl G fea: € 2 oy @A 11, $uA
13 w9 e T #

T 1w € e oo 11 g @

T 1 39 # foeg due 11 9 ¢

.04, A9 ¥ 1943 #, 39 & el §
g "3 & o1 Fel, doeis
feen "ss &1 fAuior fasan |

THE! 38ed ITT-39 I & a1 i
g 3R s & fes goew. ek
Y&, gedF & o Iaed o S o |

R H 8@ # g I fam &
oomm, wv dFamuR@  g-TEd
ToEH saawl B AR IRad & Gud
&1

yfenl I & AR & R A
TG AR IS I & A9
yiaglen ¥ aea &R I IR [
o & Toagl AR el & 9
yielgr S & TE 2 |

G AR Ne § O ELeALw
femfifer udtemr foe 73 € 1

8. u7.u, i asis ¥, S.e.e
*1 [afe &< S @i ¥ mfaa
S a2 |

{3 - A}

2o I

e il

522/ i

HuTIT

Y @ HGR B FY HR b T
|

gai R A Iuewpd Hys aEn W
werfepa (o) BT & 1

YRa 3 e AT e wonet &
e # <g=an i Fars o6
& WA T O & u fear {5 s O
YT TOR B @I & | I TR A
TiEE o o a6 o YR & fdoe
T o, F@ RE IW AT
o=l @ fowr foa |

e fvawria Fare o aron &
e o &, 5w SR o6 U F
fore eI eRA A Imavas 8 I &
S 3 WL ATHOE Fa’T el & 1

Fraffes wudl § @ o9 @ v, gmaa © Wl
GRS -

(a)

(b

(c}

(d)

Og &g W &Y <79 el U 9d9 YRR 85
S

Ig o &7 & dm & Rl # serme seoe
<11

U% TPhald & W dd 8 B AR 19T
Tae I8 mad § eféonad @

OE AT S8 H TN (§Q6T) SEor 2

frafafEg act 3§ @ oF O v, W & ST o
9% 4 aiza, FreiRd &= ¥ v afte aifeemay

g2

(a)
(b}
(e)

(d)

@ el
UG T
Uy g

A C R
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8. Which of the following statements relating [11.
to the planet Venus is/are correct ?
It is the nearest planet from ithe Sun.
2. It is only slightly smaller than the
Earth.
3. It has no atmosphere.
Select the correct answer using the code
given below ;
(a) 1,2 and3
(hY 1 and 3 only
{c) 2 only
(d} 1 and 2 only
9. Match List I with List II and select the correct,
answer using the code given below the lists :
List I List I1
(River) (Tributary)
A, Godavari 1. Son
B. Krishna 2. Chambal
C. Yamuna 3. Bhima
D. Ganga 4, Manjira
Code ;
A B C D
(a) 4 3 2 1
(b 4 2 3 1
{c) 1 2 3 4
(d) 1 3 2 4 "
10.  Which of the following statements regarding '
United Nations Environment Programme
{(UNEP) is/arc correct ?
1. The theme for the year 2011 is ‘Forest ;
Nature at Your Service’.
2, It underscorcs link between quality of
life and health and forest ecosystem.
3. India is declared as a global host of
World Environment Day 2011,
Select the correct answer using the code
given below :
{(a) 1,2and 3
(h) 1 only
(c) 2 and 3 only
(d} 1 and 2 only
P-PCF-L-TNV (4 - A
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Match List 1 with List II and select the
correct answer using the code given below
the lists :

List ]
(Prontinent
American Indian)

List IT
(Field of activity)

A. Piyush ‘Bobby’ 1. Media
Jindal
B. Manoj Night 2. Author

Shyamalan

C. Siddhartha
Mukherjee

3. Film Maker

DD. Fareed Zakaria 4. Administration

A B cC D
(a) 4 3 2 1
(b) 4 2 3 1
@ 1 3 2 4

@ 1 2 3 4

Which one among the following statements
regarding SAARC is correct ?

(a) Myanmar is a member of SAARC

(b) Headquarters of SAARC is loeated in

Dhaka
() The first SAARC award was
posthumously  conferred upon late

President Ziaur Rahman of Bangladesh

(d) The present Secereiary General of

SAARC is from India
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8. Prafefes s f & oF @&, 95 e S TEa Y
TR BE P
1. wgh e e |
2.  UZ T X dac 991 & el # |
3. 3 argese A8 @
I e e g @ v R w9 IR e
(@ 1,233
(b) waer 1 3R 3
(¢) wae 2
(d) Saer 130T 2
9. gl I g I3 gifta difze 3k gied & A=
few e T T SN @R R IR g
I I
st s
A - MEE 1. 9=
B. @ on 9. R
C. Ty 3. W
D. T 4, WHISRT
E_:
A B C D
(a) 4 3 2 1
b 4 2 3 1
€0 1 2 3 4
@ 1 3 2 4
10. Ugw U UOiRel ®RiEH (UNEP) & §R #
s v s R e a2 ?
1. &% 2011 & fom fwoasg & a9 : wgly snoe
a1 7 |
2. WR Sad @ ol IR WRem qw &
yffefad &9 ¢ & w=a o wifed
B & |
3. R4, favg vafero fRew 2011 & fawg-dmam
F v Dt fear man &
I Re 7T B & wAim @ Fel 39K g ¢
(a) 1,23R3
(b) a1
(¢) thaer 23R 3
(d) &am 13k 2
P-PCF-L- TNV

11;

12,

{5 - A}

I 1@ I 1 ¥ gl ot ok gfuai & AR

for e Be &1 wdn TR wE IR g
o U

(FERfTS PRIt WRA) (@ref-g)

A, Gy & o<a 1. m)m

B, AT ATge @A 2. OEEH

C. fagrf gt 3. ftoem e

D. WRIE S 4. TR

®C -

{a) 4 3 2 1
(b) 4 2 3 1
) 1 3 2 4

d 1 2 3 4

SAARC & ar ¥ frafeiRe werl # & o7 A U6

WP

(a) =wifMR SAARC &1 & W& &

(b) SAARC BT T BT # arafeerd &

(¢) U8 SAARC ¥R oy & fedma
TR BRr-R @ RO JeH
fosar

(d) SAARC & Id7F mERhE (I TR}
URA Y &
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13.  Which of the following statements regarding |16,

Chipko Movement is/are correct ?

1. Chipko Movement took place in the early
1970s against the introduction of
commercial forestry.

2. Chipke refers Lo a single movement and
not a collective of several movements,

3. Chipke did not begin as a movement for
conservation but primarily as an 17.
economic struggle, the root of which lay
in rural and peasant pretests.

Seleet the correct answer using the code

given below :

() 1 only

(b) 1and 3

() 2 only

d

(d) 1and2 18.

14. Which one among the following wars was
ended by the Trealy of Madras ?

(a} First Carnalic war

{b) Second Carnalic war

{c) Pirst Mysore war

(d) Second Mysore war

15. The Harappan civilization covercd an 19.
extensive area of present South Asia. The
geographic space covered by this civilizalion
included

(2) Kashmir, Punjab, Sindh and
Northeastern frontier

(b) Punjab, Sindh, Northwcestern frontier
and Kashmir

(c} Punjab, Sindh and =2 part of
Northwestern frontier

{d} Punjab, Sindh, a part of Northwestern
fronlier, Kalhiawar and a part of
Ganga-Yamuna Doab

P-PCF-L-TNV {6 - A)

Sarhul is a festival cclebrated during spring
by the

(a) Dimasas
(b) Santhals
(e) Khasis

(d) Jarawas

Right to Informalion is
(a)
(b}

fundamental right
legal right
(c) neither fundamental right nor legal right

(d) both fundamental right as well as legal

right

While 2 proclamation of Emecrgency is in
operation, the duration of the Lok Sabha
can be exlended by not exceeding

(a) three months

(h) nine months

(e) one year at a time
(d) two years al a time

Which one among the following slatemenis
helds good in respect of the Rajya Sabha ?

(a)

One-third of its members retire after
every three years

(b}

Two-thirds of its members retire after
every Lhree years

(c) Two-thirds of its members retire afler

every two ycars

(d)

One-third of its members retire after
every two years
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fiaa s & ar ¥ Frafefag 8 4 ofF aid
DU IE B8 ?

1. fOe sReE 1970 & e $ URW o
aritfsaes afar sy 8m & e & @ |

2. fuomr e sidem & MR sar . 2 5
IS R & WfEs T |

3. fager wReor & e siEeT & w0 ¥ wRy
& g, shew waltiea Y anffie wud %
w0 ¥ 7w g forwet 313 weilor v fva
feRer % o

AR Re me e & i R '@ 3 g

(a) &ad 1

by 13R 3

{c) &gd 2

(dy 132

FreafoRea & & % w1 o gg wgw & i &
TR T g3 P

(a) WM Fhed gz
b) fEa wes gx

()  wom IR q&
(d) fia R g=

FSW B WTa T aferor o & fawga O &
e o | T s =l ¥ o' waar S &,
I S-an ¥ wE e € 2

(a) BHIR, dorE, fay iR Faxydt S

(b) Yorm, fau, so<afad Pwia sk soix
(c) uSmE, B iR uxufiad ¥ & vs am

(d) dsE, fao, swofvad dwm @1 e
Ffeamars SR Tm-amA Azra @ ve

16.

17.

18,

19.

{7 - A)

{16 BR1 T¥a & ERM U 370 WREA HA SN
®7?

(a) Temm
(b) U
{c} @A

(d) FRar

o &1 ARER

(a) o EoR &

(b) fafts aftrer &

(c) A g R 9 & Rt sftrer @
(@) @ iR ik fte dfter a9

ST 3T @ JZEWOT YRt N €, a8 wis | @
afer ey srafer § 3 58 wgrd o7 vy 2

(a) dF AR
(b) =t nw
{c}) UPHaR ¥ P Y

(d) v IR ¥ arad

T AN & ar A MelcRaa sof YA s wos
oI €1 & ?

(a) 96 s-Ree v vl O auf & swig
R Fga & s &

(b) THE A-FREE T 1le d9 761 3 TAna
R fFga & o &

{¢) 3zT® -foeE v us & auf o gwfia
R Mo & o &

(d) TUF vo-Rel Bew T A @bl & wwlia
R Mg @ o &
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20. Which of the following statements regarding
the Fundamental Duties as contained in the
Constitution of India is/are correct ?

1. They can be cnforced through writ
jurisdiction.

2. They have formed a part of the
Constitution since its adoption.

3. They are applicable only to citizens of
India,

Select the correcl answer using the code

given below :

(a) 1,2and3

(b) 1and?2 only

(¢} 2 and 3 only

(d) 3only

21. Which one among the following companies did
India shortlist for purchasing the Medium
Mulii Role Combat Aircraft (MMRCA) ?

{a} US Lockheed Martin's F-16 Super Viper
(b} Russian United Aircraft’s MIG-35

(¢} France Dassault Rafale

{d) US Boeing F/A 18 Super FHornet

22. Hcavy waler is so called becausc it

{a}) contains a number of salts as in sea
water

(b) is the mercury contaminaled water

{¢) is saline watcr used in hospitals

(d) contains the heavier isotope of hydrogen
in water

"P-PCF-L-TNV
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23.

24.

25.

Which one among the following statemenis is
correct ?

(a) Melting of ice and burning of candle
represent the same kind of chemical
change

{b} Meclling of ice is a physical change and
burning of candle is a chemical change

{c) Meclling of ice is a chemical change and
burning of candle is a physical change

{(d) Melting of ice and burning of candle
represent the same kind of physical
change

Steam at 100°C is more effective in heating
than water at the same temperature because

(a) steam is in the gaseous state and water
is in the liquid state

(b) steam has an additional heat known as
‘latent heal of vaporization'

() water has hydrogen bonds but steam
does not

(d} transfer of heat {from steam is casier

than water

The first large research reactor of India that
uses UJ-233 as fuel is

(a) ZERLINA
(b} PURNIMA
{¢) DHRUVA
{(d) KAMINI

Directions : Next five (05) items are based on the
information given below :

{8 - A)
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In a class of 84 students, boys and girls are in
the ratio of 5 : 7. Among the girls 7 can speak
Hindi and English. 50 per cent of the total
studenis can speak only Hindi. The ratic of
the number of students speaking only Hindi
to that speaking only English is 21 : 16. The
ratio of the number of boys speaking English
only to that of girls speaking English only is
3:5.




e

20.

21.

22.

P-PCF-L-TNV
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Rd & oo § g sl go oda) & ar #
frfefas & 3 3 [y wom 8 &8 ?

1. 3= Re sftrmflRar & mmean @ wafta far s
THATE |

2. ¥ igUH @, A99 98 3AThed 2, 06 W E |
3. 9 ohaet HRT & ARSI W o & |

- 2 e g @ wEn e W R g

(a) 1,23R3 _

(by & 13k 2

{(c) Waa 23R 3

(d) e 3

frfofan dafl @ 3 W o ura g

T SE-FE go@ AGAN (MMRCA) Thay &
fore T @t S @ 2

(a) US didels micq &1 F-16 gR T30
(b) INRT FAREE WREWE B MIG-35
(c) W TITCT B

(d) US 57 F/A 18 gR g

Ry o @ o st we E, wife

(a) § 3FE 0N & GT AW € oR WR B
ot ¥ frea &

(b uE TR-¥gRE T &
() & 3rgamen ¥ wgws 8 @i |avig i &

(d) 39% A ¥ REISE @ ampd WK
Tt o S @

23.

24.

25.

freffEa sl S S s os w81 & 2

(a)y w6 &1 Mue 3R Amed o 77 ve &
PR & Iafs aRadq et g &

(b) a6 & Maemn e oRads & 3k dhesh
&I Frer Tt WRada @

(0 &b @ fuaw wafe oRedw & 3k
HeE) & seAr ifas ofitads &

(d) 6 & fue=r 3R At o 5 T s &
R o difds Rads Frele axg &

ag= H 100°C & a1 RN a9wE § 7 A 3t
THIEERY T 2T & P :

(a) o1 H¥a s@wen § # ok 7 59 ageen ®

(b) T H FR® Fo A & e T B
T 31 T &

(c) o1 % ERgeH AU a1 & afdd 9 o F
Tel &

(d) arT | FSU B AT S B ATET 3TEH

erar &

309 & w0 ¥ U.233 @ gvaue S Al YR &
TEE o< SgauH RomR sl @ ?

(a) SR (ZERLINA)
(b) gfomET (PURNIMA)
(e) &9 (DHRUVA)

(d) R (KAMIND

fdw : sk dfg (05) mer AT & W ogEw w

({9 -A)

smenRa & -

84 Bl o UH BET W 5® R GBI 57 H
Fua A 8 | @sfeE ¥ 7 esfedl & sk sish
dreT wah ¥ | e uE ¥ 50 viava Be e T
dieT Wa € | Ao feeal siol dier BIE B avEn
I BaeT AN AT AT Bl @ WS ¥ I
21:16 € | S 30N I qAT FD D HEA
Bl &Haet 3N e et asfwdl o T A s
3:52 1
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26, What is the number of boys who speak both |31. Malch List I with List II and sclect the

the languages ? correct answer using the code given below
() 4 the lists :

by 5 List List I

(¢} 3 {Border) (Guarding force)
(dy 2

A. India — Pakistan 1. Indo-Tibetan
Police Force
27. Whal is the number of girls who speak

English only ? B. India — Nepal 2. Border Sccurity
Force
(a) 10
(b) 12 C. India — China 3. Sashashira Seema
' Bai
() 20
(dy 22 D. India — Myanmar 4. Assam Rifles
Code :

28. What is the ratio of number of boys who
speak Hindi only to that of girls who speak
Hindi only ?

A B C D

(ay 2 1 3 4

(a) 10:11

® 1110 by 4 3 1 2
(e} 2:5 (). 2 3 1 4
(d} 3:6 (d) 4 1 3 9

29. How many girls can speak Hindi ? '
32. If India adopts two time zones based on 75° E

(@) 22 meridian for western India and 90°E
(b) 23 meridian for eastern India, which one among
(e} 27 the following siates of eastern India will be
(d) 29 benefited most ?

(a) Manipur
30. What is the ratio of the number of boys

who speak English to that of girls who do (b) West Bengal

so 7
(a) 5:9 {c}) Assam
by 5:8
(d} DBihar
{¢) 3:5
(dy 9:5
P-PCF-L-TNV { 10 - A )
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27.
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29,

30,
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QFl HNTHT B Ao I Te®! B W o @ 7
(a) 4

(b) &
{c) 3
d) 2
ael 3EN ST areht ersfedl o e g @ 2
(a) 10

by 12
(¢) 20

(d) 22

Faer &= AT I dEm o T T Bae o |-

drer arent oisfoal o HE ¥ o e & 2
(a) 10:11
(b) 11:10
{c) 2:5
(d 3:5

fese Tt ershedl =) aeT W € 2
{a) 22
(b} 23
(e} 27
(dy 29

A M AW AsEl N e & s des
arelt wisfisdl &) ween ¥ T s @ 2

(a) 5:9

(b) 5:8

(e) 3:56

dy 9:5

31.

32,

{11 - A}

o 1@ o 1Y gl e sk Rt s
I e 1 g @ wan R ud TR gee
gt 1 Tt 1
(i) (&I &)
A WRAd-WiERE 1 WRa-Red oo aw
B. WRd - AU 2. T {Rem T
C. ARd - 3. TeRA A e
D. ¥WRd-®WAR 4. 3R AFHeH
7

A B C D
(a) 2 1 3 4
(b) 4 3 1 2
{c} 2 3 1 4

(d) 4 1 3 2

gfd 9Rd #, uEa uRa & e 75° E gmaeR
3R qdf y=a & T 90° E amRR & 3R W 2
TG FA Ao e, O @i wRa &1 CreafoRaa
¥ D T UH 59 qEIS mifad /e 2

(a) wPmR
(b) uf¥ow dme

(c) 3&EH

(@) feEr
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33. Arrangce the following hills of southern India |36.
from north to south :
1. Nilgiri
2,  Cardamom
3. Nallamala
4.  Anaimalai
Select the correct answer using the code given
below :
(a) B3-1-4-2
(b) 4-3-1-2
(c)y 1-3-4-2
37.
(d) 1-2-34
34. Which one among the following local winds is
not characteristically hot and dry ?
(a) Sirocco
(b) Mistral
{¢) Khamsin
(d) Chinook
35. Match List I with List Il and select the correct
answer using the code given below the lists : {38,
List I List IT
A. Tron oxide 1. Glossy finish on
wood and steel
B. Varnish 2. Colourless shining
protective coating
on wood
C. Ename] paint 3. Exterior and
interior brick
walls
D. Emulsion paint 4. Preparatory
coating on steel
Code :
A B C D
(a) 4 1 2 3
by 3 1 2 4
(c) 4 2 1 3
{d} 3 2 1 4
P-PCF-L-TNV {12 - A}
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Which onc among the following places is
not covered by the Golden Chariot, the
luxury train designed to visit the historical
places of South India ?

(Ia) Hyderabad

(b} Bangalore

{c) Goa
(d) Mysore
Who among the following was not a

non-government  representative in  the

Lokpal Bill Drafting Committee, 2011 ?
(a) Kiran Bedi

(b) Arvind Kejriwal

(¢} Prashant Bhushan

(d) Shanti Bhushan

Why is Nagpur promoted as
capital of the world ?

the tiger

1.  Nagpur is the major store house of tigers
as the districts adjacent to Nagpur have

many tiger reserves and sanctuaries.

2. Nagpur has infrastructure that can

support a large tourist industry.

Select the correct answer using the code
given below :

{a} 1 only
(b} 2 only
(¢} Both 1 and 2

(dy Neither 1 nor 2
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33.
& BF | CIIgT -
1. TerR
2. HEEHA
3. Teomel
4. 3EAMEH
9 fie T oo B W aX wE I[R g
(a) 3-1-4-2
(b) 4-3-1-2
(¢ 1-3-4-2
(d) 1-2-34
34, FreRifed wria @@ § ¥ o @ o, mele
w0 ¥ ad 3k g 7T 2P
(a) TRE@®
(b) Frga
(c) ~EHTEA
(@) R
35, < D& g€ I 9 gitE aifte ok giei & A
feT T B & @ TR FE I YT ¢
w1 wh
A, I e 1 s 3R Wi W
THeR qReo
B. a9 2. B W TRH
TNHER &
C. wa T 3. ¥ 3R saRe ¥
Ffrit
D. 3uEE YT 4. B R R4S o
g
A B C D
(ay 4 1 2 3
® 3 1 2 4
() 4 2 1 3
d 3 2 1 4
P-PCF-L-TNV

36.

37.

38.

{ 13 - A}

frfafaa 4 & o4 T ve W, <R a_a &
Wrfs we & aEn 7Y IR e ¢
Tees AR ¥ ar /T 3§ wfinta 98 & ?
(a) EEIEE

(b) AR

(c) Tham
(@) ™R

FrefReg § ¥ F, doua e sweor @il
2011 ¥ vp R-Rer sfaffer F& anpelt 2

(a) R0

(b) aRfe FarlEm
(¢) W 3HoT

(d) erifer sEor

AR B EER W & TS § w0 H dafia g
femamvar 2 2

1. TR Tl & gE 48R T €, wiie AR
T ol el § 3% 9w aRfim &3 @

HRIRUG & |

9. "mER # g amuRE Rew ¥ S TER
gdie= JW @) a6 WaH o woal 8 |

T e e Fe & v e T8 R g
(a) a1

(b) ac 2

() 13dR 23

(d IWMLIAR2




39. Consider the following slatements about the |41.
post-cold war directional changes in Tndian
foreign policy
1. By the mid 1990s, Indian foreign policy

submitted itself to a process of adaptive
learning to hoost ils status and influence
in the global pecking order.

2. Indian foreign policy has shifted from an
overemphasis on idealism during the
cold war era to pragmatic realism in the
post-cold war cra.

3. Indian foreign policy is geared to
establish tangible economic and security
partnership with major regions and
countries of the world.

Which of the statements given above is/are 42.

correct ?

(a) 1and 2 only

(b) 1 only

(c) 2 only

(d} 1,2and3

40. Mateh List 1 with List Il and select the
correct answer using the code given below
the lists :

List I List 11 43,
(Festival) (Community/
ethnic group)

A. Nongkrem 1. Khasi

B. Chapchar Kut 2. Mising

C. Kherai Puja 3. Bodo

D. Ali-Ai-Ligang 4. Mizo

Code :

A B C D

(a) 1 4 3 2

hy 1 3 4 2

(e) 2 3 4 1

(d)y 2 1 3 1

P-PCF-L-TNV (14 - A
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The following sentences describe one of the
sites of the Harappan civilization :

“Phe settlement is divided into two scctions,
one smaller but higher and the other much
larger but lower. Archaeologists designate

these as the citadel and the lower fown
respectively.  Both were walled.  Several
buildings were built on platforms, which

served as foundations,’

Which of the following sites does it refer to ?
(a) Harappa

(h) Mohenjodare

(¢} Lothal

{(d) Kalibangan

Which one among the following pairs is not
correcily matched ?

{a) Power of the
Parliament

Creating a new
slate

(b) Power of stalo
legislature

Altering the name
cf the state

Guaranteed to both
Indian citizens and
non-citizens

(¢} Equality before
law

(d) Equality of
opportunity

Guaranteed to only
Indian citizens

Which of the following statements regarding
Regional Rural Banks {RRB) in India isfare
correct, ?

1. The basic aim of setling up the RKBs is
to develop rural economy.

2. The arca of RRBs is limited to a specific
region comprising one or more distriets.

3. RRBs
Banks.

are sponsored by Commercial

Select the correcl answer using the code
given below :

(a) 1 only

(b) 1 and 2 only
() 2 and 3 only
(d) I,2and3

Downloaded From : http://www.upscportal.com




——‘

39.

40,

P-PCF-L-TNV

Downloaded From : http://www.upscportal.com

YR R A #, i gE & e & wwy A e

Ran wRadH & R A Praffas s | R

S

1, 1990 ¥ Tod & WO A, VR Rw A
Y fava-saitren 3 e Rarfar iR mma &
TgH & foU ve sggen sttt wdH ¥ gE 3
g &< & |

2. wRdG few Nfa, W gz gn A sediar ®
e 7o & & g § T W Magenr
g # e audaRe § e 0 T

3.  wRdw faew A, fawe & we dmt ok <=l
¥ wry o e o8 [Ram WEE

Oy o IraRa St i & |

T e # Y S R wd A 7

(a) Fad 13k 2

(b) ®ad 1

(¢) Tad 2

(@ 1,23KR3

W@ 1@ T 11§ Pfer s ok gfual & A

few e e @ wa R A/E IR g
rgﬁm;) (@aﬁ%ﬂgm

A, HEmeR 1, Wk

B. &R ¢ 2. fufam

C. TWEE 3. a®

D. 3Ei-b-fewm 4. M

e

41.

42,

43.

t 15 - A}

Fyafafad o 230 Al & Uh W @ v,
HEE

a7 awdit & argum 7 d &, @ spenga piel fbg
FeaaR IR gORT @) &g g Pk | qRawiag
77 e w-gif sik o FR & wv 7 sl
ava & 1 2 & gEk e & | o W TNl Y
FINIORETTABAIT AN

w ArEfRaa i Y foa wa o e axarg ?
(a) &g

(b) WIEHARR

(¢) wad

(d) BINEH

Frafufea it % @ @ w oo wd gt @

-

(a) TR A oiE
(b) =y faarvsa

0 G H YA

T4 T T e

() ffr & amer udg  amiRe 3R

tamRs . a9 @

STYE

(d) 3ETR & 9Hal A WA AR
' BT FYA

uRa A &g anfior ot (RRB) & sr ¥ fafaRad
iyaluaR s s &

1. RRBs ™fa &9 & 7@ @ed o
sefarawen & e &A1 8 |

2. RRBs o &3 fifte &7 a5 G & o v®
o7 vt Gl A R e a1 2 |

3. RRBs affsus dotf gra s g |

iy e e e & T S e IR g
(a) &ad 1

(b) wad 13K 2

(¢) wam 23k 3

(d 1,23R3
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Which onc among the following is nof an
institution of Indian Money Market ?

(a) Reserve Bank of India

(b) Rill Brokers

(¢} Merchant Bankers

(d)

Nen-Banking Financial Inlermediaries

The Naxalites have allacked a town in
Dantewada district of Chhattisgarh killing
When the
responded by giving
chase to the Naxalites, they retreated to a

personnel.
paramililary forces

12 security

village and are now taking shelter in the
village huts by making the tribals there
human shields against the paramilitary
forces,. Which  amongst the following
statements 1is the best response by the
paramililary forces in this situation ?

(a) The paramilitary forces should open fire

on the village as it is hiding the

Naxalites
(b) The paramilitary forces should surround
the offer 1o
peacefully 1o avoid civilian casualties by

village and negoliate

offering a surrender policy

() The paramilitary forces should ulilize air
power to target the Waxaliles {from the
air

(d) The paramilitary forces should surround

the village and then send in ‘special

police officers’ 1o attack the Naxalites

46,

47.

48.

49.

{ 16 — A}

At the time of short-circuit the eurrent in the
circuit

{(a)
(b)

reduces substantially
doos not change
(¢) increascs heavily

(d)

varies continuously

Transformers are used in between the electric
power stations and homes or faclories in order
Lo

(2)  minimize the power loss in transmission
cables
(b) minimize the voltage drop in

transmission cables

(¢) minimize the current drop in the

transmission cables

(d)

provide constant voltage at the user end

An elderly person while trying to read a hook
at about 25 em from the eyes finds the image
appears blurred because of the decreasing
effecliveness of the ciliary muscles and the
loss of flexibility of the lens. This defect of the
cyes is called

(a)
{b)

myopia
astigmatism
(¢)  hypermetropia

(d) presbyopia

The acccleration due to gravity on the surface
of the Farth is maximum and it

(a)
(b)

ingreases as we go up
decreases as we go up or down
{c) Increases as we go down

(d)

neither increases nor decreases as we go
up or down
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Praffaa 4 ¥ o9 @ @, YRAG [@ TER W
e 8 ?

(a) WRAG ReHE 4@
(b fo s
(c) aftry dax

(@ I-dfn i Eite

BAG & Tiaaer o § Teeeaiddl ¥ U TR
W EAC B 12 AT FiAs B AR fean # | &
Roffed s 7 Toumafedt @ Wiy W T
T B, A& ¥ 9 & & 0P g A 51 @ 3k
3 3 g & AwE A F oaatgal B
taftferedt adll & Raens AMa Sag a9 g8 TR
et I wefiifmtfea i sl wm
o, tofafeed ael & T wakpe FEE RAE
&

(a) Rifeed @ & 19 ® WS &=
aifer, «ifd 98 Toaraear & 3 & @I
g

(b RAfRY ol & 1@ & W = wifdEgs
FENd T e e vs wAdu A @
WA BRA §C SRS AN B gded 8 X
TR ST

() Wffed ad@ & g 9FF & @m R
e ¥ geweaifed @ Frem sAEr Tty

(@) Hofifeed s @ e & R A afee @R
g e gftmr sfteRal @, seoafedl
R IFIAY IR By, 3iaX AT wfee

46.

47.

48,

49.

{17 - A}

AYIIT & WY 9ROy B R
(a) T UT IR ®
by TRaf T A
(¢) dTgd 9% I &
(d) TOR d&e §

foga ofts weril 3R W a1 bwRd $ S F
uRenfiEt & wa ol ooy s € 7
(a) ROl Saal ¥ afts & grad & S e

(b)  weREr Fawt § deeal U =gEan 3 B e

(c) Rl BEE A UR I GAIH F & forw

(d) WARH & WE W TGN dcedl TaT A
& foe

Hﬁﬁaﬁwaﬂwﬁﬁsﬁa‘iﬁm%cmmw
U g 1 WaTE RaT € 3R o € T qemd
AR & ged wwEeRar AR o9 ¥ aHnes &
T & R Aofesr 3RO ¥ o & 1 3w %
9 A9 o) U TEd € ?

(a) Fae g

(by FidgHar

(c) drighe

(d} SRI-Refe

Y 7% W o v e 8w # 3R @w
_-H .

(a) agar @ S B IR I &

(b) Tear ¥ IRY-3R ' FR TR E A AW €
(c) gar & SRy & ira amd @

(d) 1 &gar & 7 gedm €, S-3h B IR I
a1 R A
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50. ‘Hydraulic brakes’ and ‘Hydraulic lift' are|53.
devices in which fluids are used for
transmitting
(a) force
(b) momentum
(c) pressure
(d) power

54.

51. Ms. X pgoes to work by NH-2. She has a
meeting at 9-30 AM on a day and missing it
may mean missing out a big opportunity for
her. On that day all day long NH-2 will be
closed for repair.

From the above statements, which one among
the options given below follows ?
(a) Ms. X will not be able Lo go 1o work on
the day A5,
(b) Ms. X will not be able to reschedule the
meeling to another day or another time
(c) She surely will lose a big opportunity for
her
{d) None of the above

52. The statement ‘Everyone has a father, but not.
every father has a son’ implies that
(a) every father has at least one son 56.
{b) mnol every parent is 2 male
(¢) some parents have daughters
(d) no father has just one son

P-PCF-L-TNV {18 - A')
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Given that
1, Some dentists are Asians.

2. Some Asians are nol pedialricians.

Which one
implied ?

among the following is not

(a) Some people are not pediatricians
(b) No pediatricians are Asians
(c) Some Asians are dentists

(d) There may be dentisls who are not
Asians

If we know thal ‘some utensils are not
micrewave-safe’ is Lrue, il follows that

(a) ‘some utensils are microwave-safe’ may
be also truc

(b}  ‘no ulensils are microwave-safe’ musl be
true

(c} ‘no utensils arc microwave-safe’ must be
false

(d) 9f anything is a utensil, it must be
microwave-safe’ must be true

Arrange the following Indian states in
descending order of population density as per
the Census of India 2011 ;

1.  Uttar Pradesh

2, Kerala

3. Bihar

4. West Bengal

Select the answer using the code given below :
(a) 4-3-2-1

{b) 3-4-2-1
(¢} 2-3-4-1
(d) 34-1-2

In which stage of ‘demographic transition’ is
India at present ?

(a} High birth rate and high death rate
(b) High birth rate and low death rate
(¢}  High birth rate and falling death rate
{d) Low birth rate and low death rate
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50. ‘gauied §% 3R cawies e giesdr & e
Ao E TR sA S e dm 2

(a) 4T
(b) ¥Om

(c) =@

(d) wifp

51. S X oW W) NH-2 3 3l € ) foodht oo R
i 9-30 &3 I v doo & AR I T eniwe
R B T AW eE w3 HEew § dfa @ w7 |
7 &7 R 7 NH-2 wera & foe /2 <& g
I we i, Frefaiea el § @ @)
FHT BT 8 ?

(a) #HEG X 39 9 ®H W 98 S uin

A X do5 &7 odmn Reaq a3k
&= o1 foesit s v R AR = e

{b}

(¢) = Fiftme =0 3 3 e o w9 s |
&

(d) 30w F X B T

52. U & ¥ 6w =afs @ far &, feg &= R
o O A8 &, JeteE B &

(a) & e & T9-3-F9 o6 4T @
(b) & wE-foer gow 7 @
(¢) & mwa-foar @ gfit &

@) 5 N R o G ve ag A9

P-PCF-L-TNV

53.

54,

55.

56,

(19 - A)

fRarma & f

1. 3B -ffses oftend € 1

2. oo v fy-fafees =8 €
fefafae & @ @9 o1 w@, 99 Jumitg 38
BT ?

(a) ow o farg-fufscas i &

) o N R R & &

(¢) Do oiwms & fuafses ¢

(@) ca-fufscms 8 o € o iR T &
IR &9 S € 5 0 ada wemna-rfie w8 &
a8, a1 ag e o & &

(a) g@ﬁn@ﬁ%ﬁm%ﬁmﬁm

(b) P oW T WiEpRE-RiEa T @ e &
Hed 21 TR

() ‘BF W FET EPRT-GRAd T8 & aEe &
fiyen @ anfee

(d) ‘3R BB T &6 &, T I/ TEoRa- I
ava @ 2 Tifte Java € W @ anee

HRA B 2011 & FHOAET & R, FafaRaa
YR ISl &, FHOE 990 & e 78 N
ThEg Hife

1. IR W

2. o

3. fer

4. uf¥ow ama

Y foe e T @t vt R wd IR g
(a) 4-3-2-1

by 3-4-2-1

(c) 2-3-4.1

(d) 3-4-1-2

HRA A “SHiGHA Hepaor & g wor A & 2
(a) I@ T R AA Iog T
(b I FHR W = TG R
(c) I I R a9 iRd 7g W
(d) Frer s ) T A gy )
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57. ASEAN ({Association of South REast Asian |61, Which of the following countries won the
Nations) Regional Block consists of a number gold medal in Cricket in the Asian Games,
of countries. Which one of the following 2010 7
groups of countries is a part of this block ? '
(a) India, Pakistan, Sri Lanka, Bangladesh, (a) Sri Lanka .
Thailand, Myanmar (b) Pakislan
(b) Brunei. _Darussalam,- Ind_onesia, (¢) Bangladesh
Malaysia, Singapore, Thailand, Vielnam
{¢) Indoncsia, Malaysia, New Zealand, (@) India
Australia, Philippines, China
{(d) Indonesia, Maldives, Bhutan, Nepal, |62. Which of thc following is the objective of
China, Myanmar the Institutes of Technology (Amendment)
Bill 2010 passed by the Lok Sabha in
58. Which one among the following is not a March 2011 ?
g o
plantation crop % {a}) To allow IITs to launch courses in
(a) Coffee non-cngineering disciplines like
(b) Sugarcane Medicine and Economics
() Wheat (b) To provide IITs autonomy  in
(d) Rubber administration and faculty appointments
() To allow IITs to set up campuses
59. In 2010, at the Lisbon Summit, NATO signed overseas
a “Declaration on Enduring Partnership” for
future enhanced cooperation with regard to (d) To provide IIT status fo cight new
capacily building and security sector reform. institutions
With whom did NATO sign this declaration ?
{a) Pakistan
63. The Economic Survey 2010-2011 has
(b) Turkey : . - f
suggested the creation of a National Forest
(c) Serbia Land Bank to
(d) Afghanistan (a) settle disputes between agitating
farmers and POSCQ in Orissa
60. Which one among the following brought .
together the thinkers, editors, business and b) re‘sohlve- dt‘ﬂerences between  nodal
cultural groups and political leaders of India ministries like Coal and Power and the
and Pakistan to bridge the divide between the Ministry of Environment
nations ?
{c) meet the UP farmers demand for higher
{a) Aman Biradari .
compensation
(b Aman Ki Ore
r (d) provide relief Lo the farmers of Vidarbha
(c) Aman Ke Raste in Maharashtra
(d) Aman Ki Asha
P-PCF-L-TNV (20 - A}
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57. ASEAN (efior qdf ofererd Tl & @w) &l @2
&% el A B R a2 1 & @ Freriaa A R
B T A T S B R 2

(a) YR, Ufhar, 8 ol SRy, dEds,

R

(b 5 Toeem, seRim, wolkmr, famg,
ases, faaamm

(c) gemRmm, woRmn, =g s, SR,
fpferd=, o

(d) =R, aeda, yer, AU, 9, )RR

58. TrfRed AN o I ow 72 € 7
(a) B
(b) =T

© M

(d) =g

59, 2010 ¥ forgs B gt ¥, NATO = &@an Fmior
R eT &9 GUR & FEw ¥ Wiy § i
JEam & for wm wierd Guge gmom ®
gwaerR e | NATO 3 39 owon ) e e
gwIeR fee ?

(a) Ui
(b) T

(¢) Sl

(d) sreMRAE

60. frefeRea § ¥ o, w=a 3k ufdem & Rraa,
Faf @1, A I & dr e @ I &
foe, @y aman ?

(a) 37 et
(b) ST & N
() 37 &b I
(d) 3T & HE

P-PCF-L-TNV

61,

62,

63,

{21 - A}

Fr=fofag & @ 5w 2w 3 oRE @, 2010 &
e @l qed hdr ?

(a) % vt

(b) ufpa=

(c) EERY

(d) ¥Rd

TRl 2011 § oid W gRT TRG SRfe dwm
(Fieq) fadow 2010 & kg F=faRed § ¥ aF
e

IITs & Rl T, 39 ol
o fere, § ol B gE BRA DI
grgfer &

IITs & woned ol 9o Fgfea A
T Y& ST

(a)

(b)

(¢) ITs & WFuR &gdl & =fig & o
3gHfe &0 .

() > Ay gE B T & Refd verm s

2010 - 2011 & 3@ TIAW 5 U6 LT a7
d% wfie & & g fow fae faar 2

(a) JFNT H IAEAERT FuDI T POSCO &

ar faarel & Fwer & foe

(b) @ qur faq S ded AR oAt
TOiaT HAAT & @9 A B R/ B B
fore

(c) IR VT & P o, IENhd Ied IES
@ AW B 9 DA & o

(@) #errg A faat & Pyt o w3 B fow
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64. India has identified ten new hydropower |67,
projects for development to achieve the target

of import of 10,000 MW of hydropower from a

neighbouring country by 2020. Which is that

country ?

(a) Bhutan

(b) Ncpal

(e} Sri Lanka

(d) Bangladesh

65. Certain measures of Dalhousie created scrious
discontent in India which were also
responsible for the revolt of 1857. Which of

the following measures was not onec of them ? {68.

(a) Doctrine of Lapse

(b) Introduction of Railways and Telegraph

(e) Abolition of titles and pensions of
gsaveral rulers

{d} Iducational reforms

66. The Bahmani archiiccture in the Deccan is
marked by its distinet originality and|gg.
independent style. Which of the following
statements about Bahmani architecture are
correct ?

1, [t derived its c¢clements [rom the
architectural styles of the Delhi
Sultanate and that of distant Persia.

2.  The forts built by the Bahmanis were
undoubtedly the greatest monuments far
exceeding any of the same period in
Burope. 70,

3. Bahmani architecture did reflect a
harmonious blend of both Hindu and
Islamic slyles.

Select the correct answer using the code

given below :

(a}) 1,2 and 3

(b 2 and 3 only

() 1 and 3 only

(d) 1 and 2 enly

P-PCF-L-TNV {22 - A}
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India is a Jand of many beautiful ancient
temples. Which one among the following
temples displays ihe most extensive and
sumpluous rock-cut shrines and is the most
marvellous architeclural freak in India ?

(a) The Rath temple al Mamallapuram
(k) The Kailash temple at Ellora

(¢} The Chaturbhuja-Vishnu
Khajuraho

temple al

{d) The Kailash temple at Kanchi

The Nagar style of architecture developed
muostly in

{a) South India
{(b) North India
(¢) North-West India
(d) North-East India

Which one among the following is not a
component of fiscal policy ?

(a) Taxation policy
(b) Public debt policy
(¢) 'Trade policy

(d) Public expenditure policy

Import substitulion implics

(a) imporiing new ilems in place of old items
of impori

(b) gradual reduction of imported goods to
save foreign exchange

(¢} increasing domestic supply of goods by
imposing impert restrictions

(d) replacing import ilems
production of such items

by domestic
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66,
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URA 9, 2020 UF U6 Ul 29 ¥ 10,000 MW
Si-fage A RN & AT B oW TR ¥
oo & e =@ 78 so-fr ofaemmi &
I D g | TEAT DA AE ?

(a) YZH
(b) AuE
() o dm
(d) ERS

SeElol B T FRAEA F 9Ra F 18R sy o
s fear 3 1857 & fade & fore oy sewardt €
frfoiad & & o @ oied 1 ¥ T & 2

(a) XT5G-3YEI0T i

(b) X T AR DY I

(c) 3V vl o Iumferdl qen Jerai & i
() e gur

THT D dEH RNl 3T e diftvmar
IR wam det & fow wRifsw & | sEwd
WG & aR ¥ F=eRaa & @ sRsR X
TR e 8 ?

1. 399 3 o ool SaoHd o SIeas
diferdl 3tk I3 WY & wgEn el ¥
we fbw & |

2.  weatyar g SilE e Pk R & =0
®IeT & (Sl foell F B @ IR AETAH
RS 3 |

3. W wmwEdm ¥ fig vd gemd 2R
et & Tl foson gfefafaa @ar @

I fdu e g7 B wET aR T IR ghe

(@) 1,23R3

(b)y Haw 23Kk 3

(¢} &a@ 13k 3

(d) &ae 132

67,

68.

69,

70.

{23 - A}

R 396 Gex wra w1t & ufir & ) FeaforRas
A BN @ s G WRa ¥ waitte gfraga aur
dyawrel deipa AR@ qw walfus  aqym
RINASCNCHD [GEAGTOTT WaTerd SRall & ?

(a) HIEEIQRA & W AR

(b) TARI HI Hemrer "R

(c) WIRR! & agya-faw] #fR
(d) TR & Hem AR

&7

{a) afémor wRa

(by TR ¥R

(¢) TR-ufFd uRa
(d) FR-gEl ¥R=d

ﬁmﬁﬁﬁﬁ%ﬂqu,mﬁu%aw
UeH Td@l & P

(a) wRE™ Rl
(b) e o A
(c) =R Afe
(d) e g I

T R & o aef @ ?

(a) 3w o QU WEl B wE W) T Wl @
IS HAT

(b) faelt 7o saw & fee smarfom awget o
WIS B -

(¢c) 3T yfoey e S¥g oY Wy OfT sgr

(d) mnﬁaﬁ,!ﬁﬁnﬁﬁaﬁmm.
TR AT
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71. Which of the following is/are the part/parts |74.
of the procedure for the impeachment of a
Judge of the Supreme Court of India ?

1. A motion signéd by atleast 100
members of Lok Sabha or 50 members
of Rajya Sabha is delivered to the
Speaker or Chairman,

2. The molion is investigated by a
Committee of three Jurists constituted
by the Speaker or Chairman.

3. The Judge will be removed by tihe
Speaker or Chairman if the Committee
of three Jurists recommends.

Select the correct answer using the code

given helow !

{(a) 1,2and 3

{b} 1 and 2 only

5.

(¢} 2and 3 only

(d) 1 only

72, In the Constitution of India, the word
‘Federal’ is used in
{a) the Preamble
(b) Part ITI
{c) Article 368
{d) nowhere

73. Vehicles carrying inillammable materials
usually have metallic ropes touching the
ground during moticn in order to
(a) control the speed of the vehicle
(b) conduct the charge produced by friction
{c) conduct the current produced hy

inflammable maiterial

(d) provide earthing for lightning

P-PCF-L-TNV (24 - A)
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Tsunami causes devastation near the coast of
the sea as the speed of the sonic waves
generated at the epicentre is

(a) directly proportional io the depih of the
sea

{b) inversely proportional to the depth of the
sea

{c) directly proportional to the distance
between the coast and epicentre

(d) inversely proportional Lo the distance
between the coast and epicentre

What is the correcl sequence for treatment of
polluted surface water ?

1.  Disinfection and fluoridation

2. Screening and mixing

3.  Tlocculation and sedimentation
4.  Filtration and sludge processing

Select the correct answer using the code
given below :

(a) 1-2.34
(b 3-4-1-2
() 2-3-4-1
(dy 3-2-14
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71, Frefifes § 9 3 ¥, 9Ra B T A $|74. G R & ¢ $ e @E e @ /@i
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1. WAd, A% 99 $ H9-9-H0 100 WER I

A WU H BA-R-FHH 50 TSl & FEER (a) g O TERE & FHATEE S ]
Ewaﬂmm%ﬁaﬁﬁmm§1

9. TwmE o, WEx a1 vudda g nfsa 3.
faftrremst o =il gry Sita @ ST | ®) [ B URE F YEpIIE 8

3. uft & Rftdwst & wfify srRrn S @

ar e, WER a1 Yaie gRI gl

O | (©) e 3R aftrew & & I Q& srgEERIwET

LIRS
3 e W g @ 9 % R IR g
(a) 1,23R3 @ o 3R g ¥ B g ¥
(b) daw 1312 e &
(c) e 2 3R 3 |
(d) a1
72, e ¥ wREE Y, W G TE o g | ?Tam;ﬁaammasmmmm
g ?
() R 1. i iR wgpided
(b) % I R -
(c) T 368 S

d) a?e“i#é‘i‘ P

73, SEEENE GER @ @ M §@ Al § 3ER ) ﬁ’lﬂﬁewyarmaﬂaﬁmqﬁv:
s St 8t & o 1 & v g &
CoG I o B S G

(a) 1-2-3-4
(a) o @ T Frifia s & foe by 3412
(b) =T A 3G Y F oA & fde
(¢) 2-3-4-1
(0) AT g g1 I ORI & e & fore
d) 3-2-14
@ R b P sEdT e B ¥ (@ ,
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76. Match List T with List IT and select the |77. What is the number of school teachers

correct answer using the code given below living in the cities and who have two
the lists : children, but are neither science graduates
nor women ?
List I List 1T
(Plant) (Biofertilizer) {ay 18
4
A, Soyabean 1. Anabaena by 2
(¢) 38
B.  Azolla 2, Rhizoblum
(d) 42
C. Pinc 3. Azospirillum
D.  Maize 4. Mycorrhiza 78.  What is the number of city dwelling women
science graduates who are school teachers
Code : and have two children ?
A B C D (a) 65
{a) 3 4 1 2 (b) 51
(hy 2 1 4 3 {c) 38
(e) 2 4 1 3 (d) 37

(dy 3 1 4 2
79. The total number of non-women science

graduates living in the urban areas js
Directions : The next scven (07) items are based on

the following diagram : (a) 11
(h)y 37
(¢} 65

People living

People with in U‘"fa“ Areas d 76

two children
Y

> MV
68 |

80. What is the number of women school

Science teachers living in the urban areas who have

51
6 18 38 graduates two children ?
6 24 37 17 22
School W (a) 38
Teachers 11 arhen
51 (b) 39 -
(c) 51
(d) 89
P-PCF-L-TNV {26 - A}
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76. A 1 G 11X gAferd e o et & A |77 3 framera faeret @ < @ & 3 o)l A @A €

fw U g @ WA IR GE I G sk Frrs & @ &, ey S 1 <t Ao wmTes & 7
€ AR ¢ ?
g ! et 11
(UrET) (S Fae) @ 18
A WoEE 1. e (b) 24
B. =@ 2. UEeaH (c) 38
c. ¥ 3. dshemERe @ 42
D. 4. HEBRET 78. wiRT Y @Y Al wigen S WS o T e
#5 e Bes g R SAs A E 2
& (a) 65
A B C D ® 51
(a) 3 4 1 2 (c) 38
M 2 1 4 3 (d) 37

79. wed &l ¥ ey e R-ufeen R wE B pa
W 3 1 4 2 W & _

(a) 11

Bder : s G (7) YT [eifed ARG W rEiRa (b) 37

& {c) 6b
o d & (dy 76
am s TS Aret |
R =T 80. 77 e R Riewt B wem o & 3 o
20 93 éﬁﬁﬁ?ﬁ%‘&ﬂ?%ﬂ%ﬂa‘aﬁ?
23
" 34 fersTT (a) 38
21 38 A
>& 24 37/, 117/ 22 (b) 39
ferer- R 1 HfEeTE © 51
(d) 89
P-PCF-L-TNV (27 - A
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81. What is the number of male science graduates |85,
who are not living in the urban areas ?
{a) 22
(b} 23
(¢) 45
(d) 46

82. What is the number of male science graduales
who are not school teachers and do not live in
the urban areas, but have two children ? 86.
(a) 20
(b) 21
(c) 22
{d) 23

83. What is the number of males living in urban
areas who are not school teachers by 87
profession, not science graduates, and do not ’
have two children ?
{a) 5
(b) 1
(¢} 51
(d} 62

84, Which one of the following 1iypes of
economic activities dominates in all rural
settlements ?
(a) Primary
{b) Secondary
(c) Tertiary
{d) Quaternary

P-PCF-L-TNV { 28 - A )
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Which one among the following is the oil
and production company
operated in Siberia and owned by the
ONGC ?

exploration

{a) Venture Production
(b)  Regal Petroleum
(c) Enterprise Oil

(d} Imperial Energy

A 30-year-old space shuttle programme of
NASA ended in July, 2011 when its last
shuttle landed in Kennedy Space Centre in
Florida. The name of the shuttle was

{a) Discovery

(b} Endcavour

(e)  Atlantis

(d) Columbia

In July 2011, India and Sri Lanka signed a
Memorandum of Understanding to develop
the Kankesanthurai port in 8ri Lanka.
Which of the following statements in this
regard is/are correct ?

L. It is the first deep water facility being
re-built in the northern peninsula.

2. The port will significantly lower the
transit time of goods from and to India.

3. The responsibility of preparing  the
detailed project report of this work is
entrusted to Engineers India Limited.

Select the correct answer using the code given
below ;

{a) 1,2 and 3
(b) 1 and 2 only
(¢} 1 and 3 only
(d) 2 only
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3 oW O e B I a9 2 A el SRl
H 8 T ?

(a) 22
(b) 23

(c) 45

(d) 46

3 o e @ @ e @ ¢ sl feaer
Rrere e & 3k el &3 78 <&, oy o
AT E?

(a) 20
by 21
(c) 22

(d)y 23

Tl enll d & A 3 RNl & e wm g
T ¥ fdamg fBee 98 €, 3 8 fOem e
Tk s s wE?

(a) &
by 11
() 51

{(d) 62

frafefeg & ¥ o & s R & Fff®
it it wrior aferal 3 vew S & 2
wrfis

fhas

FTH

(a)
(b
{©)
(d)

85.

TS

{29 - A}

Downloaded From : http://www.upscportal.com

86.

87.

Prfefiag o 3 1 9 U6, 98 98 3RINT g FRH
ST & o oAt § i € 3R ONGC &
R R

G MG
Qe AT
T=MES Jac
AlRae g3

(a)
(b)
{c)
(d)

NASA @& va 3098 QT 3GR&T e DridH
oS, 2011 & WA @0 I§ 39 afod wea
e # el W Ao W IO | 39 wed o 9
T o P

Ess )
TR
Teaed
e

(a)
(b)
(¢)
(d)

FeE 2011 ¥, WRA 3R S e 3 N o A
Heeyes v B ol &= & o wwela
U W BAER v | 39 gy o Feafefea 0 9
7 ayS o ' 28 2

1. gE 0 woen § @i fear o @ yam
TR 316 AT ¢

2.  TH UTH q WKG ¥ WM TR 3R WRa B
T UG @ TRAET B Sl &7 & e |

3. =@ Ty & & fga wiRaiemn Rad da
O & el Gt R fais o
il g @

IR Rr me g B T aR 98 I g

(@) 1,233
(by Haad 13R2
(c) &g 133
(d) &I 2




88. Which of the following statements regarding |91.
‘Prahar’ missile developed hy DRDO and test
fired in the month of July, 2011 are correct ?

1. Itis a single stage missile.

2 Its striking range is about 500 km.

3. It is fuelled by solid propellants.

4 Several Prahar missiles can be fired in
one salvo,

Select the correct answer using the code given

below :

{(a) 1,2 3and 4

(b) 1 and 3 only

{c} 1,3 and 4 only

(d) 2 and 4 only

89. Which of the fellowing statements about the
Bhakti movement is/are correct ?

1. The Bhakti movement evolved as a 99
homogeneous movement. )

2. The Bhakti movement helped to bridge
the gulf between Hinduism and Islam.

3. The Bhakti movement. rescued
Hinduism from the challenges of its own
complexities,

Sclect the correct answer using the eode

given below ;

{a) 1only

{bh) 2 and 3

(c) 2 only

{d) 3 only

90. Abul Hasan was one of the most eminent
painters of Jahangir's reign. He painted the
well known Mughal Darbar scene describing
(a) Jahangir’s accession to the throne
(b) tihe arrival of T'ansen
{¢) Jahangir's interaction with the people
(d) the arrival of the Mughal court

historians

P-PCF-L-TNV { 30 - A
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The Khilafat Movement received support
from both Hindus and Muslims and it was
led from the front by Gandbiji. In spite of
this, the movement lost momentum. Why ?

(@) Office of Khalifa was aholished in
Turkey itself and beiter terms offered to
Turkey

(b) Muslim

Indian National Congress

League’s  opposition to  the

{c) Special concessions given to the Muslims
by the British government

(d) Internal frictions between the Congress
and the Muslim League

Which of the following statements about
Theosophical Society arc correct ?

1. Its founders were non-indians,

2. Its advocates were in favour of the

revival of Hinduism.,

3. It advocated for the adeption ef rational
and scientific approach based on western
ideas,

4. It helped people to overcome the sense of
false pride.

Select the correct answer using the code
given below ;

(@) 1,2and3

(k) 2 3and4
{c) 1,3 and 4

(d) 1 and 2 only
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3.  IUH S B e ¢ |

4, UD 3O H 3w ver e anlt an
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I v g & wa R FE IR g

a 1,2, 33R4

(b) Haa 133

(¢) e 1,334

(d) aw 23 4

i e ¥ R ¥ Freafefeg 9 o 9/
T I /S 7

1. 4RF KT Uh INES IAeT & @ f
foafaa gam |

2. it oM 3 g of 3k 5w & 9
G B ared ¥ weE & |

3. wfe Fdem o o of @1, 3wd g &
Stfeemmil & gatfoal | e fear |

A e e ge o wa e T IR g

(@) a1

() 23R3

(c) ohael 2

(d) &det 3
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(a) ENIR O aeaTe affa &

(b) AT &I INHA AT #
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93. Which of the following processes would |97,
explain ozone losses in the atmosphere ?
When ozone is exposed to
1. CFCs and UV radiation.
2. long winter circampolar winds to form
ice crystals,
3.  singlet oxygen atom and chlorine
monoxide.
Select the correct answer using the code
given below ;
(a) 1,2and 3 98.
{b) 2 and 3 only
(c) 1 and 2 only
(d} 1 and 3 only
84. Which one among the following phenomena
includes processes, such as production,
predation, nutrient transformation, and the
influx and efflux of energy and materials ?
. . 99,
(a) Ecological function
{b} Ecosystem funclion
(¢) Ecosystem structure
(d) Biogeochemical cycles
95. The name of the partiele ‘Boson’ is associated
with the name of 0
100.
(a) J.C. Bose
{b) &.N. Bose
{¢} Isaac Newton
(d) Albert Einstein
96. Which one of the following consequences will
happen if large quantities of domestic sewage
are continuously discharged in a stream ?
(a) Increase in the algal bloom of the stream |101.
water
(b) Increase in the temperature level of the
stream water
(c) Reduction in the carbon dioxide level of
the stream water
(d} Reduction in the dissolved oxygen level
of the stream water
P-PCF-L-TNV
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{32 - A)

Father and mother having A and B bloed
group respectively

{a) cannot give birth to child with AB blood
group .

(b) cannot give birth to child with O blood
group

(e) can give birth to child with O blood
group

(d) cannot give birth to twin child with B
blood group

The shape of the populalion pyramid reflects
the characteristics of the population. The
shape of the pyramid in India is

(a) bell shaped and tapered towards the top
(b) narrow base and a tapered top

{¢}  broad base and a tapered top

(d) narrow base and narrow top

The retreating monsoons occur during the
months of

(a) January — February

(b) March — April

(¢} June - July

(d) October — November

The chiel racial groups constituting India’s

population are the Dravidian, Aryans, and
Mongoloids. Where do the Mongoloids live ?

(a) Western India
{b)
(¢} North-Eastern India
(d) South-Western India

Southern India

Which ene among the following cell organelles
in a Eukaryotic cell is acquired during the

process of evolution by entrapment or
engulfment of Bacterial cells ?

{a) Peroxisomes

(b)  Vacuoles

(c) Chloroplasts

{d) Mitochondria
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98,

29,
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{ 33 - A}

AT A 3R B itR a7 aret fiar 3R e

(a) ABIRR of a0} = & 59 181 & Woa
(b) O IRR Tt I T B T4 7 T THa
() OO af aft s & s 2 | ¥
(d) B DR of awt aus g B 31 6 & HHa

s fRifis & anpf, Swren & et
@ wfafafen o=t @ 1| wRa & fxifis &t sl <t
&2

(a) HCBR AR I B 3R YEBR
(by Dt MR ik gsTER o

() Toga smeR 3R gEeR o
(d) Sl smeR 3R FDHof o

FTRa ArRg o vt A Qe 2
(a) IFTEQ — BREA

(by = -3

(¢) A -

(dy HaGER — g

YRA B FAEEN FF G B a6 T TR
grg;gaﬁg s 3R Ay § | diery oE
(a) U YRT

(b) <farh e
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102. In which of the following types of economy are
the factors of production owned individually ?

(a) Capitalist

{b} Bocialist

{c) Mixed

(d} Both socialist and capitalist

103. Relative humidity

{a) increases with increased temperature

(b) decreases with increased temperature

(c) decreases with decreased temperature

(d) has mo relation with increase or
decrease of temperaturs

104, The process by which heat is {ransmitted from
the Sun to the Earth is called

(a) Conduction

(b) Convection

(c) Radiation

(d) Cosmic disturbances

105. In July, 2011 Eurozene’s 17 member countries
agreed to give Greece a massive financial
bailout worth more than 150 billion dollars to
try to rescue Greece’s shaken economy. In this
respect, which of the following slatements
is/are correct ?

1. This is for the first time Greece has
been given financial bailout by other
European countries.

2.  Private lenders including banks are also
pledging support which will give Greece
easier repayment terms.

Select the correct answer using the code

given below :

{(a) 1 only

{(b) 2 only

(C.) Both 1 and 2

(d) Neither 1 nor 2

P-PCF-L-TNV

106. Which of the following statements regarding
Home Rule Leagues in India are correct 7

1.  The movement was led by the moderate
Congress leaders.

2.  There were two Home Rule Leagues.,

3. The movemeni became strong, because
other mass agitations could not be
l[aunched by the Congress during the

World War.

4. The government was non-reactive to the
movement,

Select the correct answer using the code
given below :

{(a) 1,2 and 3
(b} 2,3 and4
{¢) 1 and 4 only
(d) 2 and 3 only

107. Who among the following was not a painter

in the Mughal period ?

(a) Mir Sayyid Ali
(b) Abdus Samad
(¢} Bishan Das
(d)- Baz Bahadur

{34 - A
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108. Which of the following statements ahout |11},

Sufism is/are correct ?

1.  Sufism was the mystical interpretation
that developed within Islam,

2. Suh philosophy highlighted the
atmosphere of religious tolerance by
speaking about the universal love in
quest of the Almighty.

3. The Sufis developed a very complex
philosophy and mitiated Very
complicated practices uninfelligible to
the masses,

Select the correct answer using the code given

below :

() 1and?2

(h) 2 only

(¢) 3 only

(d) 1and3

109. Which one among the following statements
regarding Saievahanas is net correct ?

(a) The Satavahanas are identified with the
Andhras of the Puranas 112.

(b) The Satavahanas claimed Brahmana
descent and followed Brahmanical Vedic
tradition

(¢) Satavahanas and Shakas were involved
in prolonged conflict

(d) Vasishthiputra Satakarnt defeated
Shaka ruler Rudradaman 1

110, If it is true that ‘all pollutants are harmful’,
identify which of the following is invalid to [yy3.
infer from it ?

{(a) Pollutants constitute a subset of harmful
things

(b} No pollutants are non-harmful

(¢) If anything is harmful, it is a pollutant

{d} Some pollutants are harmful

P-PCF-L-TNV (36 - A)
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If it is false that ‘no person can operate an

industrial plant for the purpose of any

scheduled industry in an air pollution
control area without the prior consent of
the State Board’, then, which of the

following may be validly inferred ?

{(a) Some persons obtained the copnsent of
the State Board but did not run a plant
as industry in an air pollution control

area

(b) Someone did not obiain the consent of
ihe Siate Board but

commercially in an air pellution ecentrel

ran a plant

area

(¢} The Statc Board is the only authority to
give authorization for opening industry

in restricted air pollution control area

(d)

Some arcas are under the jurisdiction of
the State Board

A camecl adapts casily in a desert due to

(a) hump with stored food as fats

(b) water cells in slomach te store metabolic
water

(¢} nucleated Red Bloed Cells

(d) Thair growth near eyes and nostrils

If a healthy freshwater fish igs placed in
saltwater, the fish

(a)
(b}
(c)
(d)

becomes dehydrated and dies
becomes bloated and dies
suffers from microbial infection and dies

experiences no problem
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Fad 2
Tact 3
13k 3

(a)
(b)
(c)
(d)
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U S §
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(a)

(b)

ot w® w3 B oW afeRe &, @
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#?

(a) WEES BHGRS Wiall B TP Iy &I

&
(b) @ N wgys swfiax T &
(¢) uft o DT ahrers &, o a7 wye &
(d) TF WSED BHBRS &

{ 37 - A)
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113.

o ag frem & & o N =fs vow A & @
wedfd & fa fos® o1y wgEor Frdsor & & fa
IFEfE W & wWor $ e o e @an
yaiferd 8} &< wwar, o At § @ sl
faftraror srgmfea foan o waar @ 2

(a) oo afmd ¥ Iy a8 H e o B
faseq arg wgmor froaor &7 § M 6w
DS TaF T8l g

o 1 35a A & wewla w7 B e
& ary sgEor Frdaor & 3 aftias ww 3
A IR

{b)

(c) vl arg wgror Frdam &3 & s=hw I&

= g wfteR W & o ar @
UHHE WITSoT &

(d) 9 & T A B FERT & 3nd= F

¢ e RV ASWRd W AEF § IE@od 8
i & ?
(a) Hpe, ol o & w0 ¥ ww 9w e @

(b) oX ¥ IOE) I GUE @R et ot
o En

(c) wialda o sftr St

(d) 3 vd IRERY & U 96 S I

Tfe FeTaUiSa o T FEell ®F cavisial § 39 fear
S, | a8 woe:

(a) Foifod I R R T &
MpieeTal & B WX 3l &

(c) Herlfes wpeor & T & I} R I &
(d) TIF TIRT FHE T DAL

(b)
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114. Which one among the following pairs is not |117.
correctly matched ?
{a) Lord Wellesley Subsidiary Alliance
(b) Lord William English Education
Bentinck
(c) Warren Local Self
Hastings Government
(d) Lord Lytton : Vernacular Press Act
115. Which of the following pairs are correctly
matched ?
1.  Jamnalal Satyagraha Ashram
Bajaj
. . 118.
2.  Dadabhai Bombay Association
Naoruoji
3. Syed Ahmed MAQ College
Khan
4. Lala Lajpat Anusilan Samiti
Rai
Select the correct answer using the code
given below :
(a) 1 and 2 only
(b} 2 and 3 only
{e) 3 and 4 only
(d) 1,2and3
116. Who among the following ministers, in the
eight-member council (Asktapradhan) of
Shivaji, held the charge of finance ?
(a) Peshwa
(b) Amatya
(c) "Sumant
(d) Pandit Rao
P-PCF-L-TNV { 38 - A)
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Counsider the following evenls in the hislory
of Indian freedom struggle :

1.  Champaran Satyagraha

2. Bardoli Satyagraha

3. Ahmedabad Mill Workers Strike
4.  Chauri-Chaura Incident

Which ene of the following is a correct
chronological sequence of the above events
starting rom Lhe earliest ?

(1) 1-3-2-4

(by 1-2-4-3

(e} 1-3-4-2

(d) 3-1-24

The Indian military occupics a border

village believed to be harbouring insurgents
and asked the
houses in a night operalion.
the
correct inlerpretation of this incident ?

(a)

residents to vacaie their
Which one

among following siatements is the

India is a democracy and no citizen can
be asked to leave their home without a
warrant. Hence, this act constitutes =2
human rights violation

The military operation does not
constitute a human righis violalion as it
is operating in an insurgency infested
area

(b)

(¢)  Under the Indian Constitution, every
individual is  entitled (o  basic
fundamental rights and hence the
military cannot ask anyone to leave
their house on mere suspicion of
supporting insurgenis, Hence, this act
by the military consiitutes a human
rights vielation

Just mere suspicion of suppoerling
insurgency cannol be used as a pretext
to occupy a village, Hence, the military
aclion constitutes a human righis
violation

(d)
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() gu
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wﬁima’%}%m:
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(a) 1-3-2-4 ’

(b) 1-2-4-3

(¢} 1-34-2

(d) 3-1-2-4
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# 37 BR @Rl &R & B BEar & | Fetaiaa #
A DA W OB BUA FW TN B W e € P
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119. There is a growing tension on the India-China |121.
border in the eastern sector with media
reports of incursions by the Chinese military
into the Indian side of the Line of Actual
Control (LAC). In this context, which of the
following Indian response(s) isfare the most
likely ?

1. Indialedges a diplomatic protest with the
Chinese embassy.

2. India utilizes the framework of the
India-China border talks and the “special
representatives” forum 1o address these
issues.

3. India strengthens troops presence in the
border. 129,

4. Indialodges a complaint against China at
the UN.

Select the correct answer using the code given

below :

(a) 1 and?2

(b 4 only

(c) 2and3

{(d} 3 only

120. The UN Security Council mandates military
intervention in Libya hy NATO forces in
March 2011 in order to prevent Muhammad
Gaddafi from engaging in human rights
violations against civilians. Which among the
following statements is/are correct with
regard to India’s response to the crisis ?

1. India supports UNSC Resolution 1973 123.
imposing “no fly zone” in Libya.

2. India joins in the military intervention
in Libya,

3. India sends clandestine support to the
rebel forces in Libya.

4, India abstains frem voting for UNSC
Resolution 1973 on Libya.

Select the correct answer using the code given

helow :

() 1and2

(b) 4 only

() 3 only

(d) 3 and 4

P-PCF-L-TNV { 40 - A )
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There is a growing internal financial crisis
in the US with the possibility that there
will be de-valuation of the dollar. Which
amongst the following countries is/are most
affected ?

(a) India

(b} China

(¢} European Union
(d) Japan

Which of the following slatements is true
with regard to the Malabar 07-2° military
exercise 7

{a} It was a five nation naval exercise held
in the Bay of Bengal between India, the
US, Australia, Japan and Singapore

(b) Tt was an anti-piracy operation
conducted by the Indian Navy in the
Indian Ocean

() It was a joint military excrcise between
India, Indonesia and Philippines

(d)

It was a joint India-China naval cxercise
in the Malaeca Straits against piracy

Which of the following siatements is true
with regard to the J-10 fighter aircraft ?

(a) It is a Russian multi-role single engine
improved versien of the Su-30MK1
fighter aircraft

(b) 1t is an Israeli multi-role fifth generation
fighter aircrafi

(e} It is a multi-role single engine next
generation Chinese fighter aircraft

(d) It is a Pakistani indigenous multi-role

fighter aircraft
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124, There is an emerging dispute in the South
China Sea with China aggressively laying
claim to the entire area including the islands
by threatening other Southeast Asian
claimants with coercive power. Which among
the following is/are the best conflict resolution
mechanism(s) in this situation ?

1. The US Pacific Command should
militarily counter Chinese aggression,
The US should sign military pacts with
other Southeast Asian nations against
China,

3. The dispute should be resolved by
utilizing the ASEAN 2002 Declaration
on the Conduct of Parties in the South
China Sea in a peaceful manner,

4.  The UN Security Council should declare
China’s aggressive posture as a threat
to international peace and security and
invoke UN Chapler VII.

Select the correct answer using the ecode
given below :

2.

{a} 1 only
(b) 3 only
(¢) 2and 3
(d) 1and 4
P-PCF-L-TNV

125. The US mililtary forces are exiting
Afghanistan in 2012. In this situation, which
among the following isfare the most feasible
options for India to ensure that there is no
take-over of the Afghan government by the
Taliban and the country remains stable ?

1. India should send in its military to
Afghanistan.

2. India and Pakistan should sign a joint
framework of cooperation to monitor the
Taliban in Afghanistan.

3. India should continue to build roads
and schools in Afghanistan.

India should train the Afghan armed
forces,

4.

Select the correct answer using the code
given below :

(a) 4 only

(b) 1,2and3
(¢ 2and4
(d} 3 and 4

{42 - A
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124. T@0T 99 WTR ¥, 99 §R7 a0 afdorydl o¥reng (125, US d9 a@ 2012 N semfes @ P aR @
2 @) wites 9fts ¥ aAE g G Wi SR g | 39 feifo % wRa & fow, o' ghlas s &
87 R A BT F T, UF e W@ | 3= foe & semm wer @ afdes ww sfteR 3 1
fafy # fr=foiReg & ¥ a4 @, wdfepe Imd o foran s AR dw Rer & @, FrafoRea & X

wRaH g d/gfedr & ? BH a/R Wit wea e 3

1. US yerd oA @, 9 amsawr Qe & 4 1. HRA B RO § 3 /9 Yo o |
BRI S A | 2. W 3R TR &, srwTiRa § Al &

2. US®N, 99 & g 37 ftrur-uat effrag gl Al & foe ve wge e R ERAER &9
& wrr =7 wueicl R EaeR XA g | T |

3. §9 faam @, 2fEor 99 wR A weeRl & 3. MRA @ FEMaE § g6 AR wpe
RV B ASEAN 2002 GIY0T &I I98T B SR @ Tl |
g wforqet it  wemer foser s e | 4. WRA B, TR wErE ael @y &

4. UN R&m qReg @, 99 & WHmE q@ B T |

iR Wit 3k qRem & e @R & ww A e f&w T e @ e o) A R g
Ot &R UN dex VII & srece o aifke | |

(a) a4
T e e FT @y B HE IR g ®) 123%3
(a) oaer 1 - © 234
(b) e 3 (d) 334
¢ 23R3
d 13k4
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SPACE FOR ROUGH WORK
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Note : English version of the instructions is printed on the front cover of this Booklet.
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